1. JALY JL—7 EREHEEE

(1) IREFIEHRFHER
JAL
EI PR HR w® &
(AN) BT | RPK(FA®) | BIEE®) | ASK(FEERE*L) | aTEt®) | FIAE®)
20115 E 6,844,772 79.8 30,313,789 79.7 43,036,984 83.2 70.4
201 ZEJ_}‘E 7,525,038 109.9 34,036,119 112.3 44,745 317 104.0 76.1
20134418 578,279 99.8 2,582,823 104.5 3,698,245 104.5 69.8
58
68
1M HET 578,279 99.8 2,582,823 104.5 3,698,245 104.5 69.8
2013F E&t 578,279 99.8 2,582,823 104.5 3,698,245 104.5 69.8

*F| A 3E=RPK - ASK




(2) ERF#R 2 75 A1l a0 X SR AR

20134541 BER A

R BIERELL%) | RPK(FA*a) | BIERELL%) | ASK(FEERE ) | BTEEL®%)| FAE%) | FAE%

NFEER 118,627 101.7 920,564 105.0 1,294,447 106.2 71.1 71.9

xR 47,366 985 445,296 98.2 631,669 94.4 705 67.8

JAL EmT7 7% 244,253 111.9 876,379 115.2 1,205,422 109.4 72.7 69.1
FE7 =T 11,007 105.3 85,133 105.8 136,760 1145 62.2 67.4

57 Lot 10,469 92.2 26,330 914 35,748 89.1 73.7 71.8

g E R 62,733 84.7 71,578 86.7 104,328 91.0 68.6 72.0

b E 83,824 83.2 157,543 83.4 289,847 105.5 54.4 68.7

& &t 578,279 99.8 2,582,823 104.5 3,698,245 104.5 69.8 69.9




2. JALY )L—7 ERBEEE

(1) RS RIS

JALY JL—T (JAL+JTA+JEX+J-AIR+JAC+RAC)

E RN w® &
(AN) BTEL®) | RPK(F A | BTG | ASK(FEERE ) | BTEEG | FIBZE®)
2011EEE| 28,965,514 86.9| 22,264,394 87.7| 35523214 86.5 62.7
201246 | 30,020,440 103.6]/ 23,012,898 103.4| 36,443,994 102.6 63.1
2013441 2,309,460 101.8 1,760,896 100.6 3,074,956 102.8 57.3
5A8
68
25170 3 HAET 2,309,460 101.8 1,760,896 100.6 3,074,956 102.8 57.3
20134 EEt 2,309,460 101.8 1,760,896 100.6 3,074,956 102.8 57.3

*F| FHEE=RPK +~ ASK



(2) EIR#R IR E 77 Al a5 SR AR

201354 A HIER A

REH gigteen | RutEms | aiske | m@AEs | MAEG)

F H # £ 205,820 105.7 341,969 115.0 60.2 65.5
F H B 7 14,157 104.1 19,800 97.1 71.5 66.7
PR H £l [ 199,016 107.4 383,439 109.7 51.9 53.0
¥ H 27 B #) 2,184 - 8,352 - 26.1 —
H H & i 215,736 99.1 364,722 103.9 59.2 62.0
F H N g 194,192 96.0 296,705 91.8 65.4 62.6
PP H Z & Al 16,559 102.3 29,370 102.7 56.4 56.6
F H B JII 23,630 114.1 50,598 105.4 46.7 431
H H gl 23 14,913 91.6 29,232 103.8 51.0 57.8
¥ H ENBEL 21,400 105.2 39,270 92.5 54,5 479
H H & i 23,879 109.5 35,608 97.9 67.1 60.0
F H = o 38,248 105.6 70,398 113.7 54.3 58.5
H H = R 15,038 95.0 29,370 104.6 51.2 56.3
F H N H 18,452 96.6 38,940 102.1 474 50.1
H H L A 1,925 96.3 4560 125.8 429 55.2
F H N N 59,064 108.8 103,932 105.8 56.8 55.3
H H At HE 7,625 109.5 13,376 98.4 57.0 51.3
F H [if] T} 25932 109.4 49,500 105.9 52.4 50.7
F H H = 36,358 107.9 59,769 105.8 60.8 59.6
F H /N = 44,922 102.4 78,870 100.2 57.0 55.7
F H WO &8 16,705 96.7 38,775 98.2 43 1 438
F H & = 46,840 111.2 80,820 105.5 58.0 55.0
F 22} = N 41,136 108.2 75,513 107.4 545 54.1
F H = % 25,424 108.2 49,500 105.3 51.4 50.0
F H 0 L 37,580 110.4 69,657 119.3 54.0 58.3
F H b A M 23,038 132.3 49,005 127.1 47.0 452
F H PN o) 39,529 98.5 75,774 85.5 52.2 453
F H = I 35,257 98.3 69,561 119.7 50.7 61.7
F H e PN 53,625 105.5 101,910 111.7 52.6 55.7
F H = % 22,544 100.7 59,070 132.4 38.2 50.2
PR H BEREB 58,317 103.6 108,222 106.6 53.9 55.4
F H EE PN 7,020 1145 9,900 115.8 70.9 71.7
JALY'L-7" | H H = = 6,084 104.0 8,540 958 71.2 65.6
F H A bi5] 12,574 116.5 17,085 127.9 73.6 75.9
54 H F Fs 19,062 110.4 25,292 96.3 75.4 65.7
53 H £l [ 10,753 955 29,700 95.3 36.2 36.1
o H A 17,164 104.9 33,958 93.7 50.5 451
5 H 12 ] 9,012 86.8 29,370 95.9 30.7 33.9
54 H E 4 3,832 107.6 9,030 92.0 424 36.3
#F s £l 1 11,642 92.3 18,610 102.0 62.6 69.1
# F 12 ] 13,772 197.3 36,804 325.4 37.4 61.7
# £ 7B 1 26,423 102.2 30,000 100.0 88.1 86.2
# s [E] £E 2,118 - 3,000 - 70.6 -
# P = 7 7,001 85.7 11,792 76.0 59.4 52.6
# & = R 2175 - 4,560 - 477 -
# T LN H 5,990 97.1 11,992 114.1 499 58.7
# 1 1€ & 8,960 91.8 17,628 100.8 50.8 55.9
# T Ly i 6,185 100.0 10,560 84.9 58.6 497
#F F il a8 21,461 104.6 41,927 130.1 51.2 63.7
# o 3 2l 9,204 1235 15,172 112.8 60.7 55.4
& ol 19 /R A B 2,130 124.1 3,796 100.0 56.1 452
# T H = 9,047 110.2 17,376 117.6 52.1 55.6
# F = g 2,241 91.3 4,440 109.1 50.5 60.3
# T N L 3,401 - 8,800 - 38.6 —
# 1 X o 4221 109.8 10,408 170.3 40.6 62.9
F ol 5 = 7,937 120.5 13,576 153.3 58.5 74.4
# 1 HE x 6,683 97.4 9,764 98.7 68.4 69.3
F 7 = I 11,838 76.0 26,710 126.8 443 74.0
#F 1 BE R B 18,089 89.5 31,080 102.1 58.2 66.3
# B BE A E 2,931 106.5 4440 109.1 66.0 67.6
__F S EPN 5,901 90.3 9,900 93.8 59.6 61.9
| B4 i) AL, i 21,968 66.5 45195 77.9 486 56.9
5 ] E £ 24,650 79.2 30,695 84.1 80.3 85.2

4



201354 A HIER A

_ _ REHK gigteen) | RutEms | aigke | A= | MAEG)
£ i) a 1= 6,681 81.3 8,810 98.9 75.8 85.5
#l. & i Al 5,946 132.3 10,560 117.3 56.3 499

I % = o 6,104 106.0 11,308 130.0 54.0 66.2

] % N H 4,046 78.2 9,004 86.9 44.9 499

] 5 1t &= 6,114 104.3 13,008 1445 470 65.1

] % il a 9,511 119.8 17,970 154.2 52.9 68.1

} % o i) 2,177 - 6,000 - 36.3 -

L [ I g 3,169 78.9 9,900 100.0 32.0 40.6

P EGED) AL [ 22,771 110.8 48,675 116.7 46.8 492
P GED) [ 5 28,928 101.4 35,070 99.7 82.5 81.1
1B fid AL [ 13,154 97.5 31,320 100.0 42.0 43.1
18 7] 3B 3 37,850 109.3 52,170 99.9 72.6 66.4
_f& fif] it #% 1,447 83.4 3,000 100.0 482 57.8
) fit] il a 4,882 51.8 9,094 47.0 53.7 48.7
) fidl H = 2,346 91.0 4,248 100.8 55.2 61.1
_f& it & B 2,366 100.4 4,284 100.8 55.2 55.5
1B fif] 2 pall 3,624 89.9 8,060 104.8 450 52.4
1B fif] LN 1 8,823 103.6 14,940 118.6 59.1 67.6
_f& fid] = % 22,216 100.0 44734 112.8 497 56.0
__f& it B R E 2,038 74.2 4,320 48.3 47.2 30.7
JALY V-7 |_ 1@ e B AE 1,203 122.1 2,094 107.1 57.4 50.4
1B [&l BEKE 2,529 115.1 4440 102.6 57.0 50.8
B 2 /] [N 5,411 84.3 8,700 100.0 62.2 73.8
B £ fif] L 7,779 86.9 8,700 71.9 89.4 80.2

E Y E = = 48,589 98.8 66,581 91.6 73.0 67.6
A £ =l | 52,961 92.2 72,814 78.4 72.7 61.8
B 2 It X & 889 110.0 1,131 101.3 78.6 72.3
A E MK =H 2,067 88.6 3,843 94.0 53.8 57.1

E Y £ 5 A 1,645 102.4 2912 124.4 56.5 68.6
E: 1 5 A K E 15,238 97.0 24,328 95.0 62.6 61.3

E Y £ EEXKXE 1,184 97.7 2,284 96.7 51.8 51.3
E:Il E7 5 B = 1,268 209.2 2,340 230.8 54.2 59.8
H E [ 53 1,050 88.7 2,160 103.4 48.6 56.7
B R B /N 1l 1,432 157.4 4248 187.3 33.7 40.1
B IR E g ¥ § 5,377 102.0 8,724 93.9 61.6 56.7
B R E B A5 8,806 110.1 19,236 123.3 458 51.3
B IR E =ERE 2,342 105.7 4191 107.1 55.9 56.6
B R E TEEKE 17,502 103.2 33,052 109.3 53.0 56.1
B IR E m 2z 5 8,393 93.7 17,760 100.9 473 50.9
B R B 7k BEB 4943 100.8 10,695 106.4 46.2 48.8
BRE 5 5 i 1,679 107.3 4,290 107.8 39.1 39.3
TBEKXE ERE 2,669 105.9 6,336 108.0 42 1 43.0
SE PN m 2z 5 1,686 106.6 4,248 103.5 39.7 385
e PN 7k BEB 503 95.1 1,080 103.4 46.6 50.7
BEAE 5 # 392 108.6 1,046 100.2 375 34.6
ok RER 5 # 413 98.3 1,002 99.3 41.2 416
= =) =) 8 3,258 62.4 4,602 66.7 70.8 75.6
= =) %2 B & 2,226 90.5 4446 100.0 50.1 55.3
A i) | 4231 81.1 6,847 69.0 61.8 52.6
d X = BN 739 89.9 1,131 96.7 65.3 70.3
& =1 2,309,460 101.8 4,097,295 104.8 56.4 58.0

) BEHERFYy—2—B. O—F 7 EEEAFET .

FIFAE-REH - REERH
*1 D HTLERE A I A #FE=-RPK+ASK



3. JALY IV —T BB Fif X EiE

(1) R EEHERE

JALY J)L—7 (JAL+JTA+JEX+J-AIR+JAC+RAC)

E R E R
Y HE Y BE
V] BITEE Lb (%) ko BIEELE(%) b BIT4E Lb(%) [ BITEE Lb (%)
20011 EEE 237,605 60.0 28,960 88.8 381,652 86.7 27,580 98.3
20124 E 248,121 104.4 26,814 92.6 386,249 101.2 26,955 97.7
201344R8 20,773 100.9 2,384 111.3 31,751 101.4 2,278 104.7
5H
68
F1MFHAET 20,773 100.9 2,384 111.3 31,751 101.4 2,278 104.7
2013 EEt 20,773 100.9 2,384 111.3 31,751 101.4 2,278 104.7




4. JALY IV—7 48 EKR

-BREFEFHEFERZINSIGHLURICHRELGEN S -EARR

_ AL
ERNE [E| R 4R JAL
L eEE | keE | swE | Ers | &5
15 fi {5 2 17,365] 3,775 o] 37751 21,140
158 fi, 2= (%) 990 999 - 999 99.2
TERFH R E (%) 94.2 90.4 - 90.4 93.6
ERE 999 364 0 364] 1,363
KIEZEHED 13 10 0 10 23
A B (C L DD 44 19 0 19 63
At 4l [ K DED 779 134 0 134 913
D1t 163 201 0 201 364
R fE 176 3 0 3 179
FIEIZEHED 110 3 0 3 113
A S (C K DD 15 0 0 0 15
iAf 7l [ K DED 43 0 0 0 43
Z Dt 8 0 0 0 8
B 89t LIAr A~ D 75 BE(E 8 5 0 5 13
KEIZ£HED 8 5 0 5 13
HEA S E(C L A1 0 0 0 0 0
Z D1t 0 0 0 0 0
FhADF|EZRLE 7 0 0 0 7
K[ £HEHD 6 0 0 0 6
HEA S E(C L A1 0D 1 0 0 0 1
Z N 0 0 0 0 0
JTA | RAC | JAC JALT JL—J&F
ERE | ERR | ERR | ERER EfRER JIL—7
L REE | KEE | kEE | keE | keE | swE | EEE | #E
PER TR 21431  1,199] 4724] 25431 3,775 o] 37751 29206
12 i 32 (%) 99.0 96.9 98.8 99.0 99.9 - 99 9 991
TERFH F 3 (%) 86.5 89.6 96.6 94.3 90.4 — 90.4 93.8
EFE 289 - 160] 1,448 364 0 364] 1,812
KE|ZXHED 10 - 4 27 10 0 10 37
M EE(C L5 D 5 - 8 57 19 0 19 76
et izl | L AHED 194 - 126 1,099 134 0 134 1,233
ZDih 80 - 22 265 201 0 201 466
RAE 22 - 59 257 3 0 3 260
KE|[ZXHED 4 - 34 148 3 0 3 151
M EE(C L 51D 1 - 5 21 0 0 0 21
ekt g L) (Z £ A5 0D 16 - 16 75 0 0 0 75
ZDih 1 - 4 13 0 0 0 13
B B9 LISL A~ D 75 BE(E 3 - 4 15 5 0 5 20
KNI LBHED 3 - 3 14 5 0 5 19
HEAM A E(C L BT 0D 0 . 1 1 0 0 0 1
ZDith 0 — 0 0 0 0 0 0
FEhADE|=IRLUIE 3 - 7 17 0 0 0 17
KlE[ZkHED 2 - 7 15 0 0 0 15
HEAM A E(C L BHE0 0 . 0 1 0 0 0 1
g2 1 - 0 1 0 0 0 1
-ERFHRERTEHNLE-EOS>BHREFTERZLVISHLRNICEHEL-EDOEE



